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207 ™I &y 20,000 20,000 0
01 24| 20,000 20,000 0
OAMNUHASSSY L AHIHAE HOIHAP
=29 0,000,000& * 14! 20,000
(3 )Hz=nE ol=2g4ds =4 132,234 91,360 40,874
201 et 9| 41,474 63,600 N22,126
01 AP 2t 2] H| 41 474 63,000 A21,526
oUszunsEoE g8 35,000
OANUHA =& & AIFEQHH ZHE2 HM &
7,000€ * 22,0008 * 23| 28,000
OlsnsE0lE8ct)| 228
1,000 * 3,000 3,000
OokLEadS 25 S
100,000 * 30K 3,000
OEHAIR2 BN 2 08 EE
o Et 50,000 = 20& 1,000
oOozneE dEgs =48 6,474
Ocl=8 H& 300& = 5,0008 1,500
OXLY A2 L F=OJAIS AEIH M
8002 = 4, 14504 = 1.53] 4,974
203 ¥ 2 =&XH| 3,000 0 3,000
03 Al ZH =& 2 = X H| 3,000 0 3,000
OUNSHHILF=X 3,000,000 3,000
301 et A= 27,760 27,760 0
09 SHAIAHI B A2 7,760 7,760 0
O=NE FE PLEHYE 54| 7,200
Ogg g3t 20,000 « 209¥ » 12& 4,800
Ownsite & X4
10,0008 = 209¥ ~12& 2,400
OUzsznE &E 2UH 2t&3d|
7,0008 * 20 = 43| 560
11 JIEtE A= 20,000 20,000 0
OEIAISY A ZASZ 20,000, 000& 20,000
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AN HHEsnsSH
M sus 84
o2l HEWUsSEHs & MElA e (RDSAME SE3H) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
402 RI2EX20l A 60,000 0 60,000
01 RIZERt2E X 60,000 0 60,000
OAUBH AR SHHAZ 85 T2 08 JH(
A= 50%, X 50%) 45,000,000& 45,000
OBSIE s Il &X
750,000& = 20CH 15,000
(EF)UsnsS BHOYANL &5 529,107 702,077 A 172,970
201 LB-2dH| 3,500 0 3,500
02 =224l 3,500 0 3,500
odg+H 1,500
OSHSE(ZZSUARE) 3ldl &= 1,500
SAIHB A NS T H(2700H2)
1,500, 000& 1,500
osg+3& 2,000
OSHSE(ZZSUARE) 3ld &= 2,000
SAILEH A RIS 2 E (40000 &)
2,000,000 2,000
401 AIEHIZ 28I 525,607 702,077 A176,470
01 A& Bl 522,032 698,632 A 176,600
o=3 35,000
OSKSHOIH ABEH JIssAt 2 SHAISZE 4
XIS At 15,000
-sZE &X 15,000,000 = 14l 15,000
OALHHA LEDE A X HE X B X2l
20,000,000& = 14 20,000
oag+3 168,182
OANUHA SHs2d €3 & wH
12,000,000& * 404 A& 48,000
OAUHA SHsZ2E E+ & FH|
150,000& * 2000H A& 30,000
ORNESZE BHYLED 2HS X & B+ 16,600
A= 1,300,000& * 100H & 13,000
-2 120,000& * 3000 A& 3,600
OFRMNESLE A0 HXN(SHAH)
2,000,000& * 1500 A 30,000
OAMUHA s2E Fa 43,132
-5 2L 16,0008 * 263M A+ 23] 8,416
-S4 LeEA
3,000& = 263002 = 443| 34,716
OAMUHA S2E HIHA(SEA)
150,000& * 3MH 450
OFSFERr= 20,700
OMUHA SHsZE &X &£ XA
12,000,000& * 10024 12,000
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AN HHEsnsSH
M sus 84
o2l HEWUsSEHs & MElA e (RDSAME SE3H) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OAMUHA RiisZdE 25+ 2 FH
150,000& * 5000 A& 7,500
ORNsLHY B LED 28BS 2=
120,000& * 1090 A& 1,200
os49+3 279,550
ONUHA SHSLH £x L DA
12,000,000& * 1000 A& 120,000
ONUHA 22T 24 2 FH|
150,000& * 2000 2 30,000
ORHN&SLE BHAZLEOZHE 4X 2 B 25,500
AR 1,300,000& = 1500 £ 19,500
-8B 120,000& * 500H £ 6,000
OAULIH A &2l0] & SAHSI X
1,200,000& * 200H A& 24,000
OAMUHA &s2E Ea 65,600
-5 =&AL 16,0008 * 40000 * 23] 12,800
S LetE A
3,000 = 400002 = 443| 52,800
OAMUBHA S22 HE HA(SEA) 14,450
-HAsSZ2E 150,000& * 11004 1,650
Aot E 80,000 * 16004 & 12,800
OM3+E 18,600
ONMUHA SZE B+
150,000& = 1000H A& 15,000
ORNsLE B LEDEES 2=
120,000& * 300H A& 3,600
03 Al 2 0HHI 3,575 3,445 130
©0&gg 73 2,013
OAUHA RMsZE EX & EFAE Al
=Rl 279,550,000& = 0.72% 2,013
ON3+H 201
OANUHA RHIsZE EX & E5ALE Al
20l 18,600,000& = 1.08% 201
oag+3 1,211
OANUHARIHSZE EX L EAMY AL
Syl 168, 182,000& * 0.72% 1,211
oOFEATE 150
OANUHA RNsSZE EX & EAE Al
20 0,700,000& * 0.72% 150
(HF=)AMUHA SEX 22 204,510 278,000 AT3,490
401 Al HIZ 2018 148,510 218,000 A 69,490
01 A& HI 147,470 218,000 270,530
OAUHA SESEX A= cl22E SAM
50,000,000& * 14l 50,000




EA: HEsnsEN
Y zsneE 4
G HZEWsESHEs L AHAHA HE(LSAIYE EE3H) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OANUHA SESEXN 242 22 ZAF A
Al & H ] 50,000,000€ = 6.18% 3,090
OANUHHA HIBIZSEX OIAZE EZEZA
22,000 * 4,290m 94,380
03 AlE 21| 1,040 0 1,040
OALHA SEX Z2AF AIE&201H|
144,380,000 = 0.72% 1,040
402 SI2FXHE0| & 56,000 60,000 A 4,000
01 QI2tXE8 X 56,000 60,000 A4 ,000
OAUHA SEX SX 22|
10,000,000& * 40 2 40,000
OXo, S EZEX Z& L 24|
8,000,000 * 2JH A 16,000
(3F)E3THE AMNUBHARZ UG 2X2d 289 14,000 14,000 0
207 A3 I | 14,000 14,000 0
01 g E A 14,000 14,000 0
OFFTH2 AUHARZ g 21 2A 249
(M =50%, A50%) 28,000,000 * 14! x 50% 14,000
(MZ)HA SSH SIOIHE =8 31,000 0 31,000
= 12,000
Al 19,000
207 A FIH £ 31,000 0 31,000
= 12,000
Al 19,000
01 A 31,000 0 31,000
OSEBHFAN HES HAZTHE 017 BY
(A== 50%, =HH 50%) 31,000,000 31,000
= 12,000
Al 19,000
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E 0 &

20149 = 20 A DIEIEE R H A
AT AIEESR 40
ArE e
ALRAES A A2 ($ 3| A )
S HB B (SH) - NRAMY - BAS il 2t
CAEER 30 73,360 ,820 540
Dl 73,360
ag @z 73,360 820 540
Dl 73,360
ArAESTY B2 (FENSE SE5H) 73.360 820 540
J| 73,360
(Be)a+AP5 A2 73,360 820 540
Dl 73,360
101 e1214| 49,284 616 N 332
J| 49,284
04 JIZtHIZ2ZXNHEE 49,284 ,616 N 332
OMNxRAES Y 41,7003 x6H *177L 44,286
Jl 44,286
OLAIAHOR 4 4,998
Jl 4,998
201 LEr2 Y| 12,876 ,006 870
Dl 12,876
01 AFR2t2l bl 3,540 ,390 150
CEEEFIEETS Al
00,000 *1H x23] 400
J| 400
Ottty dEE 70,0003 «x6H *23] 840
Dl 840
OEEE ZTHIIE H& Y &K 2,000
Dl 2,000
O=rd | 50,000& *6H 300
Dl 300
02 3524l 9,336 8,616 720
OXtg XHI(1) 7,336
OXNsEREH 1,800& x13L*20L x12& 5,616
Dl 5,616
OX &S XYl 1,720,000 «1CH 1,720
Dl 1,720
O Xt= XA 300,000& = 1CH *23] 600
Jl 600
(OPNE=PNI=R= 600,000 *1CH*13] 600
Jl 600
oIENLRE 2 40,000& =101 *23] 80
Dl 80
OFUE 22 60,000& x10H~12& 720
Dl 720
202 04 d| 3,600 3,600 0
Dl 3,600
01 2L Y| 3,600 3,600 0
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A 2 0 & At H Al A
T =20A JIEIEES A H A
g2 #ZEHY
£TQY oY L M
STONS (SBHE SLIH) (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sZpeeEr #ZIAUD 13,882,711 6,661,109 7,221,602
= 2,650,000
J| 8,510,169
< 700,395
Al 2,022,147
=22 MY & Hd 8,775,226 4,536,279 4,238,947
= 2,650,000
J| 3,415,185
< 700,395
Al 2,009,646
SHNL(=ZEHE SE3AH) 8,775,226 4,536,279 4,238,947
= 2,650,000
J| 3,415,185
< 700,395
Al 2,009,646
HF)sddsagMd =2 165,036 79,517 85,519
J| 165,036
207 & O & H] 165,036 79,517 85,519
Jl 165,036
01 2284 165,036 79,517 85,519
020138 +HQg EZael 0lHI}
60,000,000& = 60,000
J| 60,000
020148 HIEAZAE 2LIHE
20,036,000& = 20,036
J| 20,036
OHFA 26 +EQAsR =K
AN H = HH 85,000,000& = 85,000
J| 85,000
Hz=)oldl gl 5,566 4,500 1,066
801 oIl 5,566 4,500 1,066
01 olldldl 5,566 4,500 1,066
O=Z2IEFHMF& oldltl 5,566,000& 5,566
HA)FUXNIAASG 22 (012) 2,997,669 2,802,475 195,194
J| 2,997,669
301 et d = 1,029,246 666, 268 362,978
J| 1,029,246
02 ¥et=stit= 407,101 107,396 299,705
o= 2elXd =eXE(td, 29) 407,101
J| 407,101
MIIEBE43 622,145 558,872 63,273
o4 XY =0UXA (L0, 29,85 622,145
J| 622,145
401 A2 HIL 2 TH Y] 1,862,540 2,046,080 183,540
J| 1,862,540
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SN BEBRS HEEAY
3 222 oY Y MM
SRl SENH(SEMS SHaH) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O™ 43l Otssla A 12,700
J| 12,700
(BR)=Z2IEEH F&(J13) 5,432,955 1,628,557 3,804,398
=2 2,650,000
J| 132,955
< 700,395
Al 1,949,605
207 O] 132,955 194,102 AB1,147
J| 132,955
01 A7 39l 132,955 194,102 AB1,147
O+HQAEB2I('138 0l & E})
60,000, 000& * 14! 60,000
J| 60,000
O+EAETBR(HEAZ 2LIHE)
72,955,000 * 14! 72,955
J| 72,955
401 AIEHI L 2 CHYI 300,000 0 300,000
= 150,000
< 39,000
Al 111,000
01 A& Bl 300,000 0 300,000
OLLEME I HIBELEAMZAIE X (E XN
20dl) 300,000,000& 14 300,000
= 150,000
< 39,000
Al 111,000
403 A X EHHS =0l A 5,000,000 1,434,455 3,565,545
= 2,500,000
< 661,395
Al 1,838,605
02 BII 2SOl CHEHCH & AF I 5,000,000 1,434,455 3,565,545
O HELEMZAIE &X
5,000,000,000& * 1Al 5,000,000
= 2,500,000
< 61,395
Al 1,838,605
() d2eXg =0 XA E IO 2 DB ( 24,000 21,230 2,770
J13)
J| 24,000
101 124 dl 16,000 13,230 2,770
J| 16,000
04 DIt Z2XREES 16,000 13,230 2,770
OFQ XA EO & 0B AAXAHI (1Y)
16,000,000& »1H 16,000
J| 16,000
201 ¢et24| 2,000 2,000 0
J| 2,000
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SN BZBRALS AU
3 222 oY Y MM
Sel ENA(SEMS SHEA) (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 At 22l 2,000 2,000 0
O&JA22| XY =X AASEHIL & DBXIEA 2,000
J| 2,000
202 04 Hl 6,000 6,000 0
J| 6,000
1 =LA b 6,000 6,000 0
OAx=J 2K =0XJAASEHI & DBAA
04 i 20,0003 x3H 100 6,000
J| 6,000
(A )WES==TUAE AFZ(012) 150,000 0 150,000
| 95,525
Al 54,475
403 XIS E X201 & 150,000 0 150,000
| 95,525
Al 54,475
02 S| 2SOl CHSHIH & A B 150,000 0 150,000
OB AS==THHHE 22l
150,000,000 * 14 150,000
J| 95,525
Al 54,475
HWREs(stgdAe? sSEFHY) 5,107,485 2,124,830 2,982,655
| 5,094,984
Al 12,501
HEHAXS (=ML SE3H) 5,094,984 2,112,891 2,982,093
| 5,094,984
(E=)UEAHAHX B 5,094,984 2,112,891 2,982,093
| 5,094,984
404 SIS MENES 5,094,984 2,112,891 2,982,093
| 5,094,984
01 SJ)ILSEIAHNBHEZ 5,094,984 2,112,891 2,982,093
Oot=EZIIHEEH N=2dES 5,094,984
OPMA U S2H H2ATH s2BAHEY)
502,905, 000& 502,905
J| 502,905
=2 X7 ot=2HEHIAY
695,723,000 695,723
| 695,723
O&ddEF =+ MalA4 1,712,053,000& 1,712,053
| 1,712,053
O&F(CS0s MelAl& 863,781,000& 863,781
J| 863,781
OHFol+=He2 & SLYAE(BQ) HEAL
513,335,000 513,335
J| 513,335
OFFoteHeld ATHAMNUXIE R ot=2
LI 2 ALY 634,866,000& 634,866
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—— A
N = 0] &F AF S & AN A
20148 & 20 A JIEFE Y3 H &EX
2H: BEBRER SAHEDY
M Gl 22
S ol AL (Gt==SE 3 H) (2 &HH)
L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
s 2R ot A™ 386,649 380,478 6,171
ot 22 386,649 380,478 6,171
St A2 22 (st EY3H) 338,698 268,204 70,494
(ol Ale 2922 338,698 268,204 70,494
201 et d| 6,598 19,204 AN 12,606
02 232%4| 6,598 19,204 N 12,606
OMOI4+=CEI B2 (ol£=20t)
2,400,000% 14! 2,400
Osot=ZAlEE 210 02 222 84X A
X ooeE 180
Ot AIEE 21 E28 &9 M2 ol
2 360
Ot AIEE 20 02 22 M HZE 0
AHA 2E 358
Oodl== E&slH S/W KX 2
550,000 64 & 3,300
207 I & 22,000 0 22,000
01 32 E<H| 22,000 0 22,000
Oot+=CEYE3H ZBI|gHeE 89
22,000,000 x1A! 22,000
401 Al HI L £ 0HHI 310,100 249,000 61,100
01 Al& H| 310,100 249,000 61,100
OAHZEI MAEX 300,000 2004 60,000
O, 0|2 22 XSIAEESSE MAGE
e = g 250,100,000 * 14! 250,100
oldl gl (St EY 3 H) 30, 147 112,274 NB2,127
(A K)ol gl gl 30, 147 112,274 N82,127
801 oyl bl 30, 147 112,274 N82,127
01 olldl bl 30, 147 112,274 AN82,127
O olgl gl 30,147
ol=% QIZ2IRE AL (GHEEELHEIH) 17,804 0 17,804
(H)ol=% QIR E 22 17,804 0 17,804
301 et A= 194 0 194
09 HAIAHI EAZ 194 0 194
U AW NS WAEZ 194
307 2iz2to| A 17,610 0 17,610
05 QIZ2tR &2 15,810 0 15,810
OoI2tAE HERY I =4| 750
ogst= 100, 000& »3H 300
O=22E 90,000 x3H 270




M 3222 St=3HF
M ot 2e
¢el: ofxE LUAIAE el (ot==SE 3 H) (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O¢otH 5t 60,0003 x3& 180
OXdt+=H=I HEER FL (&R, BLES)
40,0003 «3 Ml E*23] 240
QLI & ZEFEYHl 9503 *1,30000 & +128 14,820
06 23 1,800 0 1,800
Ogl2AE HERA MlE2E 150,000& 122 1,800
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N & 0l & Av S Z M A
20149 C 2ola JIEISEE N ®A
SN BPBASE SHEALD
I YRS (HFBRARE SAAED)
Selr BRNS(FEHS SLE3H) (el &e)
= _ = d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
BPBREE SHALD 45,263,623 19,336,265 25,927,358
= 28,976,000
z 850,000
9 2,276,749
= 2,312,800
Al 10,848,074
PSS (HZB 2L SI4AIED) 5,092 0 5,092
BHENS(FEHS S8 H) 5,092 0 5,002
(Be)Ex3ers 5,002 0 5,002
802 BHet 20l et 5,002 0 5,002
01 ZDExIpEa 5,039 0 5,039
029 - 22 20| BB+M2AAE XA
& 8 Xt ol 5,089
02 Al - SHIEEZe s 53 0 53
29 Z2Z 210l TTGILHEAAL ALY
&8 & o 53
SR elAl g el 852,751 483,736 369,015
p 248,157
Al 604,594
ZZAHIAANE 2F L FNBL (RN SE3 852,751 483,736 369,015
)
9 248,157
Al 604,594
()2 BTot+=MelAld 2g22(012) 445,256 483,736 38,480
b 106,196
Al 339,060
201 Lere Al 268,800 168,639 100, 161
9 86,068
Al 182,732
01 At 22l 2,052 2,020 32
OUEEHAINZALSAY 2,052
Oz 2= 1200008 1% 120
O=g= 90,0008 *5% 450
oaslal o2 90,0002 *2% 180
Oot& 5t 60,0008 «6% 360
O3t 13,0002 *6% 78
Ogst= 100,0002 6% 600
Ol 4o 132,0002 *17H 4 %23 264
02 2T 266,748 166,619 100, 129
0Z222 ¥ MA 266,748
OSHRS(SHAANLLS)
60,0008 *2JH 4 * 128 1,440
O - 5t+= 232 80,0002 *20 £ 122 1,920
ORSXME MMZBZ  1,000,0008 «10H 1,000
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2N

3
M St Aldze
Sl BToAHRIAE 29 2 RNBA(LEHL SEIH) (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

OfoZd =2 99,000 x 10 2 x12& 1,188
ORedYgs ANER 15,000 200 A %123 360
(OFSWIRE=; 67,596
22Xl 4,059,950& «x12& 48,720
J| 21,924
Al 26,796
-0 el & 1,573,000 =123 18,876
J| 8,495
Al 10,381
OAE sX2el H=dl 1,763&x104 105 1,852
(OPNE=F~2:1E=PNL: 1 185,830
-85 S0lAE |AH| 275,000 »2CH 550
J| 550
-w g KA 44,0003 =6 CH 264
J| 264
-7 |RAH 600,000 »2CH 1,200
J| 1,200
-HSWEEI KA 385,000& = 1CH 385
J| 385
-A3F 2O KX 330,000 30K 990
J| 990
-2 2AA0E ®X b 176,000 »4CH 704
J| 704
-2X KA 330,000 =324 10,560
J| 10,560
-A3 g | 275,000& »3CH 825
J| 825
-5EZJ| KX 700, 000& =4 CH 2,800
J| 2,800
-&3J KA 90,000& »32CH 2,880
J| 2,880
-Hagd S 400,000 = 1CH 400
J| 400
-=d4ddl =Xl 2,500,000 » 104 & 2,500
J| 2,500

—SERAAY X2l (H/W,S/W)
251,597,0000& = 18%=*1JH A 45,288
J| 19,701
Al 25,587
-A g4 FH |l 110,000 x205 *1/2 1,100
J| 1,100
=& ZJ] 74 1,650,000& »2CH 3,300
J| 3,300

-AHEFH SAHI(6t=)

300,000& *43] 20 A~ 2,400
J| 2,400
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M 3222 St=AIE D
M St Aldze
tel: ZIZotsHelAE 22 2 S22 (2L SEIAH) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
S XelAlE |A22lHl
321,000,000 /1041 %0, 2% 17§ A 6.420
| 2,793
Al 3,627
-“SEH & WE =28 880,000 »6CH 5,280
J| 2,297
Al 2,983
—2HAIE HELH (D& CH)
56,512,500& » 14! 56,513
-HelE EA L SXHI(54)
2,500,000& *12] x204 2 5,000
-HE L A2 AL SALI(ot=)
600,000& *42] x204 A& 4,800
-2 |l 4,479%1 1,747’ 7,825
-2tE ZHl 2 B 500, 000& *44 A 2,000
—SEAAZAAAE(TMS) S22 21,846
Ooxg |AH(RSF, 4, A22HE)
5,512,000 =1CH 5,512
O=22s Haez & ozl 50
=28 7< 50,000 *1JH £ 50
206 M= dl 39,805 25,781 14,024
01 =8l 39,805 25,781 14,024
OUds ZIxXANE 29| 39,805
Oz&8%, el 2g 120, 000& *2J4 2 240
oxgsg a4 7Y 150,000& x 12+ 101 & 150
OZ3FHE 2 300, 000& *2J4 A 600
o&Egd #¢ 770+ 1Z 261U +7H 1,407
OXEXINHIIDIS 7 53,240& 303 1,598
Ox¥s oHEI| 22 #7¢ 96,800& 30 2,904
OMEXM(HAAMBEHS 308) #+
69,000& *x315 2,139
OMEANA(He2ZEL 2838) 7+
66,000& x24E 1,584
O==&z4d JIE 2 2,400 *3000H 6 & 4,320
OZ3ct=HMelAME =Xl 45 2 5,023
-gJ 2H 2
5,700& *0.80kg*365 1,665
S HMAHAIE 24 (PAC)
4603 x20kg*365 3,358
O =ZHABZAALE(TMS)SE & At L
SZEH 228 7Y 19,840
-2=& TMS SZFAMA(165 )7 10,240
=& TMS SEEH 228 ¢ 9,600
307 21201 A 9,744 17,308 AT,564
05 BIZERI & 3 9,744 17,308 AT,564
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AN 32222 St=AIE Y
M St Aldze
©el: B3ot=HMelAE 28 2 S22 (=EMHE SE3AH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUAES EZIIZAE 23l 9,744
OHJIZ2Hel ===
150,000 x5 101 A+ 122 9,000
O2dusdXN =H=
15,5003 »4=* 10 &+ 122 744
401 AIEHI L 20 87,020 192,900 A 105,880
01 A& tl 87,020 192,900 A~ 105,880
OUAES EZIIZAE 23| 87,020
OZ3ot=HelAld A8 ofid & HII=SHe
29 7,000,000 » 14! 7,000
OZ23ot=HelAld (e A) X2 A
9,000,000 =14 9,000
O33ot=HMelAld 2EEH SA
14,000,000& 14! 14,000
OZ3ot=HMelAld SELH £XSAM
21,419,200 » 14! 21,420
OZ3ot=HMelAld SREH EXSM
17,600,000& 14 17,600
O33ot=HMelANd X B2d B=3A
18,000,000& 14! 18,000
403 Mt SHHSA=0l& 39,887 73,108 A 33,221
J| 20,128
Al 19,759
02 S| 2 S0il CH &HCH & A 39,887 73,108 N 33,221
OUHS &dIEZAE 294l 39,887
OHIItEEH =2 3,959
- AdI(29) 190,575% *123] 2,287
J| 2,287
Metaddl(01&) 195,000& »23] 390
J| 390
~EN A (01F) 106,777 *123] 1,282
J| 1,282
O33ot=HMelAld Jl=d s (24H) 22,589
-22/(0IAZL&): 1,000
22,588,500 *1.0% 101 & 22,589
J| 10,166
Al 12,423
ON&d2s FZAEEH 13,338,600& * 14 A 13,339
J| 6,003
Al 7,336
(B )-sda33ot=HeANE 28222(013) 150,312 0 150,312
J| 22,901
Al 127,411
201 Lt 79,280 0 79,280
J| 10,511
Al 68,769
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AN 32222 St=AIE Y
M St Aldze
SR ZBoAMRAAE 2Y L RNBA(LEHL SHAH) CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 263 0 263
OUAES EZIIZAE 2l 263
o= 90,000& 1 90
ogst= 100,000& »1H 100
OetHE 3t 60,000& 1 60
O&st 13,000& »1H 13
02 23=2gHl 79,017 0 79,017
OUAES &EIIEZAE 2d| 79,017
02223 2 HMA 1,908
~SHUQB(SFBRANAYS)
60,0003 x 101 2 x12& 720
-R0ZHl =2 99,0003 * 101 & +12& 1,188
odIIe2 18,907
“CEAdelE 18,907
J| 3,844
Al 15,063
OAN & &= Xl 58,152
&8s S0AE KA 275,000 104 275
J| 275
- B K AIHI 44 ,000& =204 88
J| 88
-2 =7 |AY 600,000 »10H 600
J| 600
-A3F2HOA KA 330,000& = 1CH 330
J| 330
-2X R 330,000 »11CH 3,630
J| 545
Al 3,085
-2 38 KA 275,000 = 1CH 275
| 275
-5ZJ| | 700,000 *3CH 2,100
J| 2,100
& =3I KA 90, 000& =4 CH 360
J| 360
-=ZAZI| KX 1,650,000 *1CH 1,650
J| 1,650
“AHEFY SAHI(5t=)
300,000& *43| x 14 2 1,200
| 180
Al 1,020
S & WE =2 880,000& »2CH 1,760
J| 264
Al 1,496
—Z21AIE JHESBI(OIs& )
39,971,800& » 14! 39,972

_57_




AN 32222 St=AIE Y
M St Aldze
Sl BToAHRIAE 29 2 RNBA(LEHL SEIH) (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-Melx &4 2 |XHI(6H=)
2,500, 000& * 18] 101 A& 2,500
-HE Y Z2ZAE FXALI(ot=)
500,000& *43] « 14 & 2,000
-2 |AHI 3,922& =360 M 1,412
O=f2s Haez & 2zl 50
-2 7¢ 50,000 =14 50
206 = Hl 1,855 0 1,855
01 MHZ 4l 1,855 0 1,855
OUAES EEIIZAE 24l 1,855
Ozgw, #ola 7Y 120,000 » 100 2 120
Ooxgs s& 2Y 150,000& * 12+ 100 & 150
O3FHME 7Y 300,000 » 104 2 300
o +g 7703 *15 2612« 104 & 201
OFXINHEIIIIS 7L 53,2403 x5& 267
OZYS &I B8 7Y 96,8002 +55 484
OBBot4aHelAE 2Hz2l %2 7Y 333
~g40 2TH PY
5,700& *0. 16kg*365 333
307 glz2tol & 5,244 0 5,244
05 RIZHRIE 3 5,244 0 5,244
OUHS &dI=ZAE 294l 5,244
OHJIZHMel ===
150,000 2. 5& * 101 A+ 12 4,500
OYdHsdX =HE
15,500 *4E* 14 L +123 744
401 AIEHI L 20 63,543 0 63,543
J| 12,000
Al 51,543
01 A& HI 63,543 0 63,543
OUES S#EII=ANE 29| 63,543
O8RCAIEH AX 60,000,000 » 14! 60,000
J| 12,000
Al 48,000
O ZS3ot=HelAE HAESE SESA 3,543
403 A X EHHS 20l A 390 0 390
J| 390
02 SJ|1 2SO0l CH &HCH & AF & HI 390 0 390
OUAES sFIIZAE 29| 390
OMIIHEEL =2 390
-MedH (=8) 195,000& »23| 390
J| 390
(HB)E2BIot=HMelAla 2922 (012) 257,183 0 257,183
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SA: BHALE2E St AIE D
=R RS INPEE-T]
S B2olEX2AE 29 2 S22 (=EME SE3H) (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Pl 119,060
Al 138,123
201 et | 51,521 0 51,521
Jl 26,508
Al 25,013
01 At 22l ] 383 0 383
OUES S#HIZANE 29| 383
On=ds 383
-¥ePE 2e= 120,000 * 1% 120
== 90,000& x1H 90
-gtst= 100,000& x 1 100
-OtM 3} 60,000& 1 60
-& 3 13,000 x 1 13
02 33249l 51,138 0 51,138
OUE S &HIZANE 29H| 51,138
O332=2 % HMA 2,088
~SURB(SERRUNAYS)
60,000 101 A+ 12& 720
-201AH &2 99,000& * 1 A+ 128 1,188
—RAYS AFEE 15,000 * 100 A x12& 180
(OFsPIETE= 18,627
-3l 1,552,200& ~12& 18,627
Dl 11,177
Al 7,450
Od =l 1,852
-NE sxB e
1,763& x104 =105 1,852
OA & &HlI KXl 28,521
-dE S0/AE KX4| 275,000 = 1CH 275
J| 275
- eI KX 44 000& *4LH 176
Jl 176
-& 27| |4 600,000& = 1CH 600
Jl 600
~MSUEAHX R 385,000& =2LH 770
Jl 770
-AIS2H 0 S X 330,000& = 1CH 330
J| 330
-S2AHOE KXl 176,000& = 1CH 176
Dl 176
-HIT X4l 330,000 ~11CH 3,630
J| 3,630
-&dSJ| |4 90, 000& «6LH 540
Dl 540
-HIA2A S XY 400,000 = 1CH 400
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EXN: sHALE2E ot AIE D
Mz Sl AlA 22
S9l: BT LHLANE 2Y U RNBA(FEHS SHH) CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
p]] 200
-2=&AH=D| FAHI| 1,650,000& = 1CH 1,650
J| 1,650
EEERE-LEICES
300,000& *43| x1JH 2 1,200
Jl 1,200
-0 XHelAlE A2
321,000,000 /108 0. 110 & 3,210
J| 1,445
Al 1,765
-SEH A - WE =2 880,000& =2LH 1,760
J| 792
Al 968
-AlEES FYUotMAEA 7,437 ,000& * 10 & 7,437
Jl 3,347
Al 4,090
-Helx =4 2 KXHl(5+%)
2,500,000& 13| 10 £ 2,500
-HE 2 ZHZAM SXHI(BHS)
500,000& 43| x1JH 2 2,000
-2 |4l 2,881 x648m 1,867
OZ228s Hae=z & 9=t 50
-A3& 2 50,000 = 1JH 50
206 T 24 5,579 0 5,579
01 XHZ H| 5,579 0 5,579
OUAES sHI=ZANYE 29H| 5,579
Ossgg, Fela 2 120,000& 1 &~ 120
OxHd= A 1Y 150,000& x 181 &~ 150
OBFRAHNE R 300,000 * 100 £ 300
O ¢ 7702 * 15261 « 101 & 201
O&XTMNHEOIIIISE ¢ 53,2403 x5 267
OX¥s otE)| 8E 2¢ 96,800& x5& 484
OZ22206tx=HelAEd =X ¢85 2¢ 4,057
&) &M F
5,700& x0.16kg*365 333
-AEXE ol (oM Ab) 6602 *5kg*365L 1,205
-ZEQ0IHHAIE 2E(PAC)
460& *15kg*365 2,519
307 2Iz2t0| & 5,244 0 5,244
05 QIZ2tRE 2 5,244 0 5,244
OUAES sHI=ZANYE 294 5,244
OHJIZHel =2
150,000 x2 . 5&E « 10 &« 12& 4,500
OUdUHESHAN =HE
15,500 *4Ex 1 A %12 744
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SN

%:1
M ot Ml Ala e
©e: BIoeHeAAE 2F L S/ (FEML SE3AH) (GHel &)
SHE|
S E B (3H) - MBAY - BES O Ak o8 %@ﬁ HD=2
401 AlEHIZ =20 109, 100 0 109, 100
Jl 48,950
Al 60, 150
01 Al&HI 109, 100 0 109, 100
OIS BAIZAE 29 109, 100
OFQHRAANE IS5 2=
97,900,000 14! 97,900
J| 48,950
Al 48,950
O ZZRolaXMalAlL g2 Al 11,200
403 RXISRIS X201 & 85,739 0 85,739
Jl 43,602
Al 42,137
02 I ZSOHCHEHHE AL HI 85,739 0 85,739
OIS 8AIZAE 29 85,739
OFINGHEAY =2 1,830
“HYAH(ER) 152,460 2 *123] 1,830
J| 1,647
Al 183
O33st=HMelAEd Jl=&c(2F) 19,655
-E2:500E 19,654,8002 *1.0% 174 A 19,655
J| 9,828
Al 9,827
O22ZotaHelAlA JIsTS(6h42H) 64,254
= 2:13.379%m 4,802,600 *13.379km 64,254
J| 32,127
Al 32,127
HNeHAH (BF 22 st AL D) 475,881 492,937 A17,056
7l 285,097
Al 190,784
Ol SAH(2FME SEH3IH) 428,959 492,937 A63,978
Jl| 238,175
Al 190,784
(HR)oE2HH| (2B BoteHelAE 29) 312,179 492,937 A 180,758
Jl 188,177
Al 124,002
101 @124l 299, 159 477,637 A 178,478
7| 175,157
Al 124,002
01 84 264,756 345,589 A 80,833
023 (NL22 8H) 172,137
062 (255 2) 3,314,800 x1H 128 39,778
7l 15,912
Al 23,866
O72 (255 2) 3,012,900 *3H x 122 108,465
J| 53,148




2N
X ZH -
L= B

el

ro (g o
Y ox o
H0 HO

02 02 ™

oY I
e
(RSN

x>
o
&

=
=
W e o
Jm e
g

= o
=4

=
x
=]

SA - FE - BI(EA) - NRAY - By 0l b SSa DS

Al 55,317

0O8=(1028) 1,991, 100& x 18 123 23,894

J| 11,947

Al 11,947

odN=+g 23,670

OFSE=Eal=s 14,344, 7503 x50%*22] 14,345

J| 14,345

OFSE=E =PI Fag= 5,520

-108~144 60,000 «1H 128 720

J| 720

-204 0] & 100,000& x4 «12& 4,800

J| 4,800

OFZ2=Y Itz 840

-20~24 4 10,000& x1H «12& 120

J| 120

-25@ 0] & 30,000 x2H «12& 720

J| 720

OlRSRE=E 2,965

62U 3,012,900& »4 . 1%*2H « 122 2,965

J| 2,965

ONAEHESHY 5,453

ONs=g 4,320

—-Bi = Xt 40,0003 ~4H 12 1,920

J| 1,920

-JIEHILS 20,000& «10H «12& 2,400

J| 2,400

OXEHEH EEY 1,133

-1Sstw 283,200& x1H 42 D| 1,133

J| 1,133

oS24 15,000

Ooflg=22+¢ 3,000

-5 50,000 «6H «12& 3,000

J| 3,000

OS82+ 12,000
“Helsg (ot Al d)

200,000& x5 «12& 12,000

J| 6,000

Al 6,000

oxzuz2x¢ 8,476& x5 x30Al 2t 128 15,257

J| 7,324

Al 7,933

OZHZAHI 130,000 x5 «12& 7,800

Jl 7,800

OYE S Ottl 14,344, 750& «120% 17,214

J| 8,521

Al 8,693

OIS &th| 14,344, 7503 x86%+ 1/30+20 8,225
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AN 32222 St=AIE Y
HE: HWRARY (BF SR SHEALED)
CHol ol Bl (S EN SLEH) CUR-E)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
J| 8,225
02 JIEtE B = 34,403 132,048 A97,645
OFIAZ (1Y) 34,403
OoJlzs 20,493
~HAZE 1540075 2)
1,707, 700& x1H x 123 20,493
J| 10,247
Al 10,246
Oodd=¢ 2,308
-F32=g 1,707,750 & x50%*23] 1,708
J| 1,708
“HI2E0E 600
- 5@ ~od 50,0003 «1H«12& 600
J| 600
OMAEE+EY 960
-IEsg 960
- S X 40,0003 1 =128 480
J| 480
- JIEHIHE 20,0003 «2H 122 480
J| 480
OS2+ 3,000
-fEaRsy 600
=S 50,000 «1H 128 600
J| 600
-S4 2ay 2,400
Zoisg(steraNE 29)
200,000& x1H+x123 2,400
J| 2,400
Oxzh2Zf=E 8,476 *30AI 2t 1H » 128 3,052
J| 3,052
OFHZ Al 130,000& x1H 122 1,560
J| 1,560
OZFEFItHI 1,707, 750& *120% 2,050
J| 2,050
O¢ItE &l 1,707,750 *86%+1/30%20 980
J| 980
204 MR=HAH| 13,020 15,300 A 2,280
J| 13,020
02 A2l 9,420 15,300 25,880
OFSF=E-EN. ]| 9,420
062 155,00020 124 « 128 1,860
J| 1,860
o7 140,000& »3H 122 5,040
J| 5,040
Og=olstH, @23z 105,000& »2H »12& 2,520
J| 2,520
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SN BPBRAREL SIEALD
HA: HYSYPH (HB VAL GHEALD)
Sl A (SEIE SEEH) (el @e)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 SHY2ZFH 3,600 0 3,600
OIS SH (HRAZHTH)
50,0008 «6% » 122 3,600
p 3,600
()0 d2gH(E2S3otHeAANE 2Y) 57,480 0 57,480
pJ 32,821
Al 24,659
101 @121 8| 55,620 0 55,620
pJ 30,961
Al 24,659
02 JlEtE 2 4 55,620 0 55,620
OHABH(1Y) 55,620
oJle3 37,338
~HAPE 0E04 (315 )
3,111,5008 « 12 » 12 37,338
pJ 18,669
Al 18,669
O&u+g 4,672
-3249 3,111,500 ¥50%+23] 3,112
p 1,650
Al 1,462
-¥24g Jta3 1,200
- 201 0] & 100,000%1% 128 1,200
pJ 1,200
-H24Y 20Ha2 360
- 25140] & 30,0008 «12 * 12 360
p 360
ONHEHLY 480
SbELE 480
O 40,0008 «12§ » 122 480
p 480
Os+22+y 3,000
—E2esy 600
SLE 50,0008 «12f x 122 600
| 600
-S4y 2,400
CHULY(SIEHANL 22)
200,000 12 » 12 2,400
pJ 1,265
Al 1,135
OZW2R4+Y 84762 +1Z+30AI 2122 3,052
b 1,526
Al 1,526
O U Z A 130,0002 12 + 12 1,560
pJ 1,560
O E It 3,111,5002 *120% 3,734
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M 3222 St=AIE D
HE: HWRARY (BF SR SHEALED)
CHol ol Bl (S EN SLEH) CUR-E)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
| 1,867
Al 1,867
OAIIE &l 3,111,500 *86%+1/30%x20 1,784
| 1,784
204 M R=HAH| 1,860 0 1,860
| 1,860
02 252 2l 1,260 0 1,260
OXzg 2=t 1,260
o8g, 9=, & E 105,000& x1H 122 1,260
J| 1,260
03 EZ YA 600 0 600
OULIESH (BT Z8)
50,0003 1«12 600
J| 600
(FH)d2g(=833ot=HelAd 29) 59,300 0 59,300
| 17,177
Al 42,123
101 1A dl 57,020 0 57,020
| 14,897
Al 42,123
01 8= 57,020 0 57,020
OJlezs(Ng=s2d 1Y) 36,155
O72 (255 8) 3,012,900& x1H 123 36,155
bl 5,496
Al 30,659
(OF=JGE=, 5,816
OFSE=E=y 3,012,917 & x50%*23] 3,013
| 461
Al 2,552
OFSFer =) PN = 1,200
-20 0] & 100,000 x1H » 128 1,200
| 1,200
O&Z2=Y FIIHat3 120
-20 01 &f 24A 0| 6t 10,0003 «1H x 123 120
| 120
Ole3RE=E 1,483
-6=2 = 3,012,900& *4 . 1%+ 1H 128 1,483
| 227
Al 1,256
ONAEHEY 2,093
OP == 960
-t < Xt 40,000 *1H « 122 480
| 480
-JIEIHE 20,0003 x2H x12& 480
| 480
(OPATER=E: RS 1,133
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AN 32222 St=AIE Y
HE: HWRARY (BF SR SHEALED)
el lE2HHI (=2 SEE3H) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-1Sstu 283,200& x1H 42 | 1,133
J| 1,133
OEx=2R¥ 3,000
L EEESSs 600
-3 50,0003 <1 «12& 600
J| 600
OsS+g2+¢ 2,400
B+ (LML 22)
200,000& x1H =123 2,400
| 377
Al 2,023
oO=l22Y 8,4763 *1H *30Al 2tx 128 3,052
bl 474
Al 2,578
OF U Z A 130,000 x1H 122 1,560
J| 1,560
O Z F Il 3,012,917& »120% 3,616
J| 561
Al 3,055
O ¢ I 2 &t H| 3,012,917*86%+*1/30+20 1,728
J| 1,728
204 HR=HAH| 2,280 0 2,280
J| 2,280
02 S22l 1,680 0 1,680
OESI= -] 1,680
or=s 140,000 x1H 128 1,680
J| 1,680
03 EZYRFHI 600 0 600
o gsH (FJZE ZL§)
50,000 «1H « 122 600
J| 600
Jl2ZHl (=& SE3H) 46,922 0 46,922
J| 46,922
(B2)JI2ZH(2ABBo+HelANE 29) 42,111 0 42,111
J| 42,111
201 L2l 28,791 0 28,791
J| 28,791
01 At 22l 28,791 0 28,791
OUESEIEIZANE 2| 28,791
OJIa3s23l 24,150
-2 Y| 50,0003 x 118 » 101 & 5,900
J| 5,900
-= 2 H| 50,0003 365 * 101 2 18,250
J| 18,250
ORNM2ZHl 4,641
J| 4,641
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SN BFBASE SHEALD
M HY2ILH(Z 222 dt=AlED)
Eel: JI23HI(=EHH SLE3IAH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
202 o4dl 12,960 0 12,960
J| 12,960
01 = LH o4 1l 12,960 0 12,960
OESSZII=AE 2| 12,960
OZ3ct=HMelAMd JI2PRFE 0
180,000& x6H 122 12,960
J| 12,960
203 YR =&t 360 0 360
J| 360
02 It =&Y 360 0 360
O AT A 60,0003 6 360
J| 360
(2E)J2gdH(=833dt=HelAE 29) 2,410 0 2,410
J| 2,410
201 L2l 190 0 190
J| 190
01 At 22l 190 0 190
OUESEZINZALE 224l 190
f A2l 190
J| 190
202 O4dl 2,160 0 2,160
J| 2,160
01 = LH Yl 2,160 0 2,160
OUESEAIZAE 22l 2,160
OZ3ct==HelAlE JI=dRFAYI
180,000 x1H »12& 2,160
J| 2,160
203 R =&t 60 0 60
J| 60
02 A H R =X 60 0 60
OXE A& A Ab| 60,000& 1 60
J| 60
(E)JI2Z8H(E=233ct=HelAd 29) 2,401 0 2,401
J| 2,401
201 Let2d] 181 0 181
J| 181
01 At 2teltl 181 0 181
OUESEZII=ANE 23l 181
ORNM2ZHl 181
J| 181
202 oddl 2,160 0 2,160
J| 2,160
01 SLHOIYI 2,160 0 2,160
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AN 32222 St=AIE Y
HH: HHSYAL (BAVUZE SHLAED)
Eel: JI23HI(=EHH SLE3IAH) (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OESSZII=ANE 2| 2,160
OBTot+H2UAL I 2LREF 0]
180,000& x1H 122 2,160
J| 2,160
203 ¥ S =&l 60 0 60
J| 60
02 It S =&Y 60 0 60
O AT A 60,000& x1 60
J| 60
St A& 22| 43,929,899 18,359,592 25,570,307
= 28,976,000
& 850,000
J| 1,743,495
< 2,312,800
Al 10,047,604
TIo+HEAANE 2Y Y SN2 (SEHL SB35 43,929,899 18,359,592 25,570,307
)
= 28,976,000
= 850,000
J| 1,743,495
< 2,312,800
Al 10,047,604
(BR)ataHeAL 29(013) 396,702 306,592 90,110
J| 270,376
Al 126,326
401 AIEHI L 2 CHYI 100,000 0 100,000
J| 73,000
Al 27,000
01 A& HI 100,000 0 100,000
ontsst== =29 2 WII EX(&2=2) 60,000
o0l &I+, 2=H
30,000,000& *27H A 60,000
J| 43,800
Al 16,200
olntgola=E =dAT2 AX (st +A) 40,000
O0ld #&eldeld 40,000
J| 29,200
Al 10,800
402 QI2H X201 M 296,702 306,592 A 9,890
J| 197,376
Al 99,326
02 BI2HCH & A& HI 296,702 306,592 A 9,890
Ontgot== A2l (=22 =H) 14,099
O=22 #E82 1HAa 14,099
J| 11,279
Al 2,820
ONtSst+== fIE 22/ (82 =2=H) 72,603
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EXN: sHALE2E ot AIE D
I Sl AlE 22
S9l: BIoLHLANE 2Y U RNBA(FRHS SHIH) CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Ol =31 A=22 8IHA 72,603
Jl 53,095
Al 19,508
OO0l St4=HelZ 2F (et =H) 210,000
o9l 210,000
J| 133,002
Al 76,998
(M)=SAete=Xel® EX(=21D, HSHIAIY) 11,980,000 1,926,000 10,054,000
= 7,636,000
J| 396,967
= 766,700
Al 3,180,333
401 Al HI L 2 0HHI 11,980,000 1,926,000 10,054,000
= 7,636,000
J| 396,967
=} 766,700
Al 3,180,333
01 Al&H| 11,939,000 1,801,966 10,137,034
o= dl=XHeld &X 11,939,000
= 7,636,000
J| 396,967
& 766,700
Al 3,139,333
02 Zeldl 5,000 119,219 A 114,219
Osd dt=XMeld &X 5,000
03 Al 201 Y| 36,000 4,815 31,185
o= dl=XHel & &K 36,000
(M)A Adt=XHEIAE X (212, HSHAY) 3,030,699 3,911,000 A 880,301
= 2,100,000
J| 109, 157
= 216,000
Al 605,542
401 AlEHI 2L 2 0HY| 3,030,699 3,911,000 A 880,301
= 2,100,000
J| 109,157
= 216,000
Al 605,542
01 Al&H| 3,020,833 3,659, 132 A 638,299
o2 ot=HdHel& &xXl 3,020,833
= 2,100,000
J| 109,157
o 216,000
Al 595,676
02 2teld| 5,640 242,091 N 236,451
o2 dt=xeld &X 5,640
03 AlE 21| 4,226 9,777 AN5,551
o2 dt=xel & &X 4,226
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AN 32222 St=AIE Y
B slac AR
©el: B3ot=HMelAE 28 2 S22 (=EMHE SE3AH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
()46t 2H X (22, AHSHAY) 6,877,573 2,304,000 4,573,573
= 4,590,000
J| 95,452
< 472,100
Al 1,720,021
401 A& HIZ 201 Y] 6,877,573 2,304,000 4,573,573
= 4,590,000
J| 95,452
= 472,100
Al 1,720,021
01 A& HI 6,342,321 2,155,622 4,186,699
O=4k ot=21 &X 6,342,321
= 4,590,000
J| 95,452
< 472,100
Al 1,184,769
02 Zeltl 514,012 142,618 371,394
O=4 ot=21 &X 514,012
03 Al S THHI 21,240 5,760 15,480
O=4t ot=21 &Xl 21,240
(HA)ZAst=2H AX(=2,HS5HALY) 388,425 2,179,000 A 1,790,575
= 319,000
J| 16,616
< 32,600
Al 20,209
401 AIEHI L 20 388,425 2,179,000 A 1,790,575
= 319,000
J| 16,616
< 32,600
Al 20,209
01 A& Bl 274,311 2,038,672 A 1,764,361
o2 ot==2 &X 274,311
= 218,185
J| 16,616
< 25,495
Al 14,015
02 2feldl 112,641 134,880 A22,239
o2 ot=aH &X 112,641
= 100,000
< 7,105
Al 5,536
03 Al 2 0HHI 1,473 5,448 A 3,975
OZ2 ot==2H 4X 1,473
= 815
Al 658
(HA)HYU of=2) XA (2D, ASHIAY) 1,401,000 2,883,000 A 1,482,000
= 981,000
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EXN: sHALE2E ot AIE D
B slac AR
S 225t XelAE 29 Y S22 (FEHH SEEH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
J| 363,600
= 12,600
Al 43,800
401 AlEHIZL 2 0HY| 1,401,000 2,883,000 A 1,482,000
= 981,000
J| 363,600
= 12,600
Al 43,800
01 Al& B 1,356,150 2,697,334 N 1,341,184
OFYWU ot &X 1,356,150
= 949,610
J| 351,480
= 12,200
Al 42,860
02 2teld| 41,350 178,458 A 137,108
OFYWU ot=24 &X 41,350
= 28,940
J| 11,170
= 370
Al 870
03 AlEE2HH| 3,500 7,208 N 3,708
OFYWU ot &X 3,500
= 2,450
J| 950
& 30
Al 70
(M)D0olot=XHelAE EXNAH(=Z2D, HSHAIY) 2,547,000 714,000 1,833,000
= 1,783,000
J| 92,662
& 183,400
Al 487,938
401 AlEHIZL 2 0HY| 2,547,000 714,000 1,833,000
= 1,783,000
J| 92,662
= 183,400
Al 487,938
01 Al&H| 2,130,149 668,018 1,462,131
OO0l st=xXelAlE &X 2,130,149
= 1,783,000
J| 92,662
o= 183,400
Al 71,087
02 2teldl| 409,000 44 197 364,803
OYO0l stx=XcelAld &AX 409,000
03 AlE 21| 7,851 1,785 6,066
OO0l stx=xXelAlE &X 7,851
(MRA)LAGI =2 H AXAIY (21D, HEHIAY) 2,846,000 714,000 2,132,000
= 1,992,000




AN 32222 St=AIE Y
M ot A& 2e]
©el: B3ot=HMelAE 28 2 S22 (=EMHE SE3AH) (&)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
J| 51,789
< 204,900
Al 597,311
401 Al HIZ 201 8] 2,846,000 714,000 2,132,000
= 1,992,000
J| 51,789
< 204,900
Al 597,311
01 A& HI 2,368,443 668,018 1,700,425
odgY ot=2 &X 2,368,443
= 1,992,000
J| 51,789
< 204,900
Al 119,754
02 Zeldl 469,000 44,197 424,803
odggY ot=2D 469,000
03 Al S THHI 8,557 1,785 6,772
g ot=2D 8,557
(HA)UW=X2 IHEEL MlAld HAAS( 8,247,500 1,875,000 6,372,500
H=HIAE)
= 6,598,000
J| 151,607
Al 1,497,893
401 Al HIZ 201 8] 8,247,500 1,875,000 6,372,500
= 6,598,000
J| 151,607
Al 1,497,893
01 A& HI 7,728,500 1,870,313 5,858, 187
OU=X= =2 HMelAlE &AL 7,728,500
= 6,598,000
J| 151,607
Al 978,893
02 Zeltl 500,000 0 500,000
OU=XI=Z ItFE Ml AlE HE ALY 500,000
03 A& =TI 19,000 4,687 14,313
OU=X= =2 HMelAlE HE A 19,000
HY)2SHE MEHEGHA e 1,417,000 833,000 584,000
= 850,000
< 170,100
Al 396,900
401 Al HI K 201 1,417,000 833,000 584,000
& 850,000
< 170,100
Al 396,900
01 A& Hl 1,268,073 831,084 436,989
O85d MEot 1,268,073
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AN 32222 St=AIE Y
B slac AR
©el: B3ot=HMelAE 28 2 S22 (=EMHE SE3AH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
& 850,000
< 170,100
Al 247,973
02 2eltl 140,000 0 140,000
O85d dMHotd =3AEY 140,000
03 AlE2 2 THHI 8,927 1,916 7,011
O8Sd dMHod =2JAAY 8,927
(Ha)std0l2 aste=HMelANE EXAMG (=22, HS 682,000 714,000 A 32,000
Ated)
= 477,000
J| 24,742
= 49,200
Al 131,058
401 AIEHIZ 28I 682,000 714,000 32,000
= 477,000
J| 24,742
< 49,200
Al 131,058
01 A& Hl 618,000 667,233 A49,233
O&t&0tE ot==HelAld &X 618,000
= 477,000
J| 24,742
< 49,200
Al 67,058
02 2feldl 60,000 44,197 15,803
Ostd0tE ot+=XMclAl4d £X 60,000
03 Al 2 THHI 4,000 2,570 1,430
O&t&0tE ot==HelAld &X 4,000
(HA)HE St XA (2, HSHIAY) 714,000 0 714,000
= 500,000
J| 25,955
< 51,300
Al 136,745
401 Al HIZ 201 8] 714,000 0 714,000
= 500,000
J| 25,955
< 51,300
Al 136,745
01 A& HI 609,550 0 609,550
OJ4Y ot=2tH HHIALS 609,550
= 500,000
J| 25,955
< 51,300
Al 32,295
02 Zeltl 100,000 0 100,000
OJtY ot==2t1 HHAY 100,000
03 A& =2 THHI 4,450 0 4,450

_73_




gZzzel 28 dt==Al4
ot Al E 22|
2I6trHMelAd 28 € 22 (=ZFHLd SE3H) (&)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
OJ4Y ot=2tH HHIALS 4,450
(HA)L0l of==2H AXNAIS (=12, HSHIAY) 714,000 714,000
= 500,000
J| 92,662
= 51,300
Al 70,038
401 AIEBIZ 28I 714,000 714,000
= 500,000
J| 92,662
= 51,300
Al 70,038
01 A& Hl 650,000 650,000
OEo0l ot=2H AXIAS 650,000
= 500,000
J| 92,662
< 51,300
Al 6,038
02 Zeltl 60,000 60,000
Ogo0l ot=2tH XA 60,000
03 Al 20 HI 4,000 4,000
OYo0l ot=2H AXIAS 4,000
(H23)H9 ot=HMelAlE EAXASE (22, HSHAY 714,000 714,000
)
= 500,000
| 25,955
< 51,300
Al 136,745
401 AIEHIZ 201 8I 714,000 714,000
= 500,000
| 25,955
< 51,300
Al 136,745
01 A& Bl 669,550 669,550
O©JE ot=xMeld &Xl 669,550
= 500,000
J| 25,955
< 51,300
Al 92,295
02 Zeltl 40,000 40,000
OJtY ot=XMcl& &1 40,000
03 Al 2 0HHI 4,450 4,450
O©Je ot=xMel & &Xl 4,450
(M)A a2 XA (20, HSUIAY) 714,000 714,000
= 500,000
Al 214,000
401 Al HI 2 28I 714,000 714,000
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SN BFBRARE SEAED
M ot A& 2e]
©el: B3ot=HMelAE 28 2 S22 (=EMHE SE3AH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 500,000
Al 214,000
01 A& HI 650,000 650,000
O A4 ot AXAY 650,000
= 500,000
Al 150,000
02 Zteldl 60,000 60,000
© &4 ot XA 60,000
03 Al& 20yl 4,000 4,000
© A4 ot XA 4,000
2)SY3 DSotaMelAlE SXAY (2, HE 714,000 714,000
Ated)
= 500,000
J| 25,955
< 51,300
Al 136,745
401 A& HIZ 201 8] 714,000 714,000
= 500,000
J| 25,955
< 51,300
Al 136,745
01 A& HI 650,000 650,000
O=2Y3 DtSct==HelAlE EXALS 650,000
= 500,000
J| 25,955
< 51,300
Al 72,745
02 Zteltl 60,000 60,000
O=23 DtSot==xelAld EX A 60,000
03 Al2 S THHI 4,000 4,000
O=2Y3 OtSot=HMelAlE EXALS 4,000
(He)2&(H22l) ot N LAY 546,000 546,000
401 AIEHI L 20HEI 546,000 546,000
01 A& HI 498,500 498,500
O2&E (A H22l) of=2 &EXAY 498,500
02 2feldl 44,000 44,000
O2E (A H22l) ot=2H XA 44,000
03 Al 2 THHI 3,500 3,500
O2E(YH2el) ot=2H AXAS 3,500
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>
A & 0l & AF 2 E A A
20148 & 204 DIEFSESIAH M
N ANESEAL L
H: HHR2IYGH(ARESESAL L)
Eel: =23 (nsSMed SE3IH) (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HESEMS A 669,959 616,088 53,871
HE2HEU (RS SSAIA) 63,548 61,980 1,568
Jl2dul(nsSAagy SE3H) 63,548 61,980 1,568
(#=)J12dtl 63,548 61,980 1,568
201 Let24dy] 27,908 28,380 AAT2
01 At 2teltl 27,908 28,380 AAT2
OJl2dda8s3H(JIEZHl)
13,220,000 13,220
oz3gH(JIE34l)
6,000% * 34%H » 80 * 90% 14,688
202 odl 35,640 33,600 2,040
01 S LHOIYI 35,640 33,600 2,040
O=2UWAHI(JIEZHl)
20,000 * 33% » 902  60% 35,640
HENS23E 606,411 554,108 52,303
ANSA SSH2A(LSAY SE3H) 606,411 554,108 52,303
(EF)NSHSEER 228 29 496,789 471,872 24,917
101 @124 dl 107,171 162,054 A 54,883
04 JIZHHZ2XREES 107,171 162,054 A 54,883
OBH+Y U YRS, S2AR X
41,6803 = 1& = 252 « 103 10,420
OXIZOIH Aol
41,6803 = 2% * 252 « 103 20,840
OAEIIH HayeA
41,680 * 18 » 252 » 102 10,420
OMEUEE Pud =
41,680 * 28 » 252 » 102 20,840
OXSX HSAH DXA £
41,680 * 18 » 252 » 102 10,420
OXSXHEoHHI A Y RABFAIY A HA
41,680 * 18 » 252 » 102 10,420
Oo=sgxtg N=gs H FHIIBA dUHEX
41,6803 = 1 = 252 « 103 10,420
OJIZtHM 22X HEFOHI
200,000& = 9H =« 23| 3,600
OJIZtHM 22X 288 XN =IES 9,791
O=8&= 93,780,000& * 4.5% 4,221
O=0HLEE 93,780,000& = 2.945% 2,762
OFIAEE 2,762,000& = 6.55% 181
onzs=sg 93,780,000& * 1.5% 1,407
Ot Mol 24 2= 93,780,000& * 1.3% 1,220
201 et 296,530 255,803 40,727
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BE .G (3) - MY - BES il &t o il
01 At 22l 125,612 97,042
OXNEsSE ¢332 3l 125,612
OHXLEH 428 7Y 16,672
-diOldESH EY
260,000 = 14CH = 13 3,640
-DNAMEE ZEH &Y
500,000& = 1CH = 53] 2,500
—mMAEY 70,000& = 504 * 63l 2,100
-SAI EYH 260,000& = 304 = 53l 3,900
1B 28 528,000& » 44Xt 2,112
—AESSAI ZEX 110,0008 *« 104kt 1,100
—ENEHEE 3301 Y 33,000& = 404 1,320
OZRUe === 5,620
-E3E Ha 400,000& * 13 400
AN 2 150,000& * 123/ 1,800
—EOjo B (AL
110,000& * 123/ 1,320
“AEEEANYL ASLFEI =2
400,0008 * 23] 800
SHAHIY 2AHA 242
1,300,000& * 13l 1,300
OXsXHSAIHSE HZ 7,000& » 400% 2,800
ONSXHSES HH HE 5002 * 10,00004 5,000
ORNSHPHEY U % o B0
70,0003 * 4014 * 43| 1,120
OAHHEIHEZEAN HAS 8,000& = 5000H 4,000
OXtsxtately MY 80,000& * 53 400
OXsxss2de Mal ol 49,830
AR A S SUHA 95
3,500& * 100& * 9& = 23| 6,300
“HMEY 23 UBAN 25
3,500& * 100& * 2& = 23| 1,400
e, 2, AL NERNER 175
3,500& * 20& * 178 = 23| 2,380
-XtSXHZ AL HL 2 WEHE RUDXM 5
ES 80,0003 = 2& Xt » 58 * 33| 2,400
-oREE ol ¥ WHE FUDXAM 53
80,0003 = 2& Xt » 58 * 33 2,400
“AHSUHLESHEAM 353 x 40,00000 * 23] 2,800
-AASAHEES 703 = 40,00001 = 23l 5,600
-AEANEEAR 403 = 40,00001 = 33l 4,800
-EFEE2ENE AHAHEER UHE
250,000& = 2&HX+ « 23] 1,000
—SYIE HEEE U=
250,000& » 3&X+ + 13l 750
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N ANESEAL L
Hu: MADESSE
©el: NSk SSe(RDSAY SE3H) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
“FHEAMMNDERE XA
80,000 = 1504t Xt 12,000
= A 210X A 80,000&  50&t At 4,000
-SE10XAN 80,000& 504t At 4,000
OAREENHE HEA FSULRSE S
J === 3,600
-AREE =2 3,000& = 600A 1,800
- FoHH =2 3,000& = 600A 1,800
OLHZE MEXY 2HEI} =2
250,000& * 53l 1,250
ORsd ZMHME ==&
11,000,000,000& * 0.11% * 50% 6,050
ORIt E 0] m=Hl
90,000& = 2¢ = 39 540
O3JI8FI & d28+) X2
48,7003 = 504 = 123 2,922
OdX<¥ M=l 7,800 = 77& * 123 7,208
O LRAIAE Ol8x2
1,550,000& * 128 18,600
02 2324l 170,918 158,761 12,157
o0z22= & HA 145,158
ORERI3 119,220
-S I 1,900& = 2,500  12&8 57,000
- et 2703 = 15,0008 *» 128 48,600
-Solgtsa 1,630& » 600 » 128 11,736
-tHE =g 3,140 = 508 =12& 1,884
Oo&IJIg3a 1,200,000& » 128 14,400
(OFSE- 3 TE=, 50,000& = 500 » 12& 3,000
OfIdgERS 25,000 * 12& 300
OMEXEY HSHIXNIRE S4L=
55,000& = 1CH = 12& 660
OQHYUNH 2= 35,000& « 123 420
O&dt=E23 185,000& * 12& 2,220
O RES 60,000& = 23l 120
OLSRERES 200,000& « 13l 200
OA ot S 2/l 48,0008 = 12l 48
OHHS2E MEESEE It
100,000& » 39H 300
OZEXE MASUS 2,350
-SEEE(SEA) 350,000& « 1CH 350
-SEEE(stS) 650,000& « 1CH 650
-2HNEE 50,000& = 2 = 12& 1,200
—-Xt & XHAl 150,000& * 13 150
OXtsxt2ely, SHHYABUNEHE H5 Oty
HE ME= 80& = 2,000 = 123 1,920
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AN NHESEAMLL
M MU NE25EE
©el: NSk SSe(RDSAY SE3H) (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
O = Hl 1,970
oA Ltet 1,970
-2 58U
1,3682 » 24 = 8AI2F = 10H » 90 1,970
OAIE ZHI S X 17,322
Oz Fd 1,500,000& » 51CH * 6% 4,590
omZgg 750,000 = 39CH = 6% 1,755
O&E R = A 3,700,000& = 3CH * 6% 666
OIE=p] 1,265,000% * 60H * 6% 456
OZAMESTI 1,500,000 = 504 * 6% 450
O M MIEDI 1,500,000& = 2CH * 6% 180
OLXA =28 Zeif
8,000,000& * 1CH * 6% 480
O2MEZED 6,600,000& = 108 » 6% 396
OHBYSEHAECD] 2,200,000 * 1CH * 6% 132
o=sEz s 5,850,000 * 1CH * 6% 351
O o] 3,700,000& = 9CH * 6% 1,998
OfEEMEERN AL RAE =
97,500& 122 1,170
OxXelZz 08 SAES
9,000,000& = 141 = 6/100 540
OBSEHIXANAY RAE=
4,158,000& * 14! 4,158
OXtg & et 6,468
ozExg =Xl 3,234,000& * 20K 6,468
202 Oddl 2,040 2,040 0
02 M0 2,040 2,040 0
OAEIIAH I A S50 H|
170,000& * 1& » 128 2,040
207 & 00 &l 30,000 0 30,000
02 & AR I 30,000 0 30,000
© SEA Ul AL SSI2H 30,000
O XMAX2A2AMAY SE2=
20,000,000 = 14l 20,000
O RELSENSUHEN2ACANAE SE2=
10,000,000& = 14l 10,000
301 et a = 18,798 19,275 NATT
08 SUZRRIABHS 18,798 19,275 NATT
ONsSIEE g2 EX 18,798
OZAZR2R B4= 18,798
-l 24l 105,800& * 5& » 12& 6,348
-S4l 6,000% * 53 » 252 » 12 9,000
- SHl 2,300% = 59 » 252 123 3,450
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SN HPSBAYL
N HENDESSHE
S ASK SEH2(WEAY SEIH) (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
405 XHAHFIEHI 42,250 9,550
01 XAt 2 E F S| 42,250 9,550
O#HAANIPE HH P2 35,700
OZFEH 1,300,000& * 15CH 19,500
Odlold=Zelg 1,500,000 = 10CH 15,000
OFAX 600,0008 = 2CH 1,200
OMEHES DX AN BFZECIEHI 400,000 * 204 800
OFZ2MEI(HAD]) 3,850,000& ~ 1CH 3,850
ONESAMY 950,000 204 1,900
HZT)otMGtD B EE HALZE 109,622 27,386
307 2iztol A 102,972 20,736
05 QIZ2tR E 2 102,972 20,736
ORI HHIAIAH Q& 2HH|
190,000 * 12& 2,280
OXYSEALL HA U
2,046,000 = 14 » 12€ 24 552
OXNYSE A= 20|
2,115,000 = 3¥ » 12& 76,140
401 AlEHI 2L 2 0HY| 6,650 6,650
01 Al&H| 6,650 6,650
ORIRA=XNHE DNE=xess &R
65,000 = 60 3,900
ORIRQIFERT ExHM TMTA
25,000 %110 2,750
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